
 
DO NOT OPEN THIS BOOKLET UNTIL INSTRUCTED TO DO SO 

* All questions are compulsory.  

* Read the instructions on the ANSWER SHEET and fill in your NAME, 

CLASS and OTHER INFORMATION. 

To mark your choice of answer by darkening the circles in the Answer 

Sheet, use an HB Pencil only.  

* You MUST record your answers on the ANSWER SHEET.  

* There are 30 MULTIPLE CHOICE QUESTIONS. Use the information 

provided to choose the BEST answer among the four possible options.  

On your ANSWER SHEET fill in the oval that matches your answer.  

* Marks are NOT deducted for incorrect answers.  

* Return the Answer Sheet to the invigilator at the end of the examination.  

* Write your Roll No. on the Question Paper too and take it home for future 

reference.  

* You are NOT allowed to use a calculator.  

You may use a ruler and spare paper for rough work. 

 

 



Section - A 

(This section contains 5 multiple choice questions. Each question has four 

choices (A), (B), (C) and (D), out of which only ONE is correct.) 

 

 1. Choose the odd one out. 

  (A) 20 (B) 27 

  (C) 32 (D) 36 

 2. Which of the following objects has minimum weight? 

  (A)  (B)  

  (C)  (D)  

 3. Find the correct rule for the given pattern. 

     

  (A) Adding 3 (B) Subtracting 3 

  (C) Multiply by 3 (D) Divided by 3 

 4. Which of the following options can be the next image of the pattern? 

 

  (A)  (B)  

  (C)  (D)  



 5. Which of the following words will come first, if all of them are arranged 

alphabetically as in a dictionary? 

  (A) Spouse (B) Sport 

  (C) Space (D) Spark 

 

Section - B 

(This section contains 25 multiple choice questions. Each question has four 

choices (A), (B), (C) and (D), out of which only ONE is correct.) 

 6. What is the value of X if the sum of all boxes is 3,594? 

 

  (A) 2,032 (B) 2,302 

  (C) 2,574 (D) 1,562 

 7. The even number which is greater than 2060 but less than 2089 is _________. 

  (A)  (B)  

  (C)  (D)  

 8. 4 tens less than five thousand three hundred fifty is _________. 

  (A) 5390 (B) 5310 

  (C) 5930 (D) 5130 

 9. If three cubes are placed end to end, you will get a _________. 

  (A) Cube (B) Cylinder 

  (C) Cuboid (D) Hemisphere 



 10. In a school library, there were 2,480 Mathematics books, 1,843 Social Science 

books and 2,153 English books. How many books were there in the library? 

Choose the correct number sentence. 

 

  (A) 2,480 + 1,843 + 2,153 = 6,486 (B) 2,480 + 1,843 – 2,153 = 6,587 

  (C) 2,480 – 1,843 + 2,153 = 6,846 (D) 2,480 + 1,843 + 2,153 = 6,476 

 11. Divya wants to arrange the given cards to get the greatest number between 4000 

and 5000. Find the same. 

 

  (A) 4582 (B) 4125 

  (C) 8542 (D) 4852 

 12. Find the multiplication statement for the following. 

  7 + 7 + 7 + 7 + 7 + 7 =  ? 

  (A) 7 × 7 = 49 (B) 6 × 7 = 42 

  (C) 2 × 21 = 42 (D) 6 × 7 = 35 

 13. A shopkeeper had 32 packets of pens. Each packet had 8 pens. He sold 200 

pens. How many pens was he left with? 

  (A) 32 (B) 50 

  (C) 56 (D) 60 

 14. How many hundreds are there in the sum of 1110 + 128? 

  (A) 1 (B) 12 

  (C) 38 (D) 8 

 15. A cake was cut into 18 equal pieces. Tanmay ate 3 pieces. What fraction of the 

cake was left? 



 

  (A)  (B)  

  (C)  (D)  

 16. Identify the missing term in the given pattern. 

  105, 120, 135, 150, _________, 180 

  (A) 155 (B) 160 

  (C) 165 (D) 175 

 17. Which of the given pairs is NOT correctly matched? 

  (A)  (B)  

  (C)   (D)   

 18. There were 3,247 trees in a forest. Some of them were chopped down. If 1,629 

trees were left, how many of them were chopped down? 

  (A) 2,618 (B) 1,618 

  (C) 1,608 (D) 2,422 

 19. Round off 228, 374 and 482 to the nearest hundreds and find the sum. 

  (A) 10 hundreds (B) 10 tens 

  (C) 11 tens (D) 11 hundreds 

 20. Shalini has 2 daughters and 1 son. She distributes 24 balloons equally among 

her children. How many balloons does each child get? 



 

  (A) 1 ten 2 ones (B) 8 ones 

  (C) 2 tens (D) 12 ones 

 21. What fraction of words are vowels, in the word “KANGAROO”? 

  (A)  (B)  

  (C)  (D)  

 22.  

  (A)  

  (B)  

  (C)  

  (D)  

 23.  

 

  (A)  (B)  

  (C)  (D)  



 24. A tank had 60 L of water. If Nandan poured 20 jugs of water in the tank and 

capacity of each jug is 3 L, then how much water is there in the tank now? 

 

  (A) 60 L (B) 110 L 

  (C) 120 L (D) 140 L 

 25. Nitish places all three coloured bell peppers equally into 5 carry bags. How many 

bell peppers are there in each bag? 

 

  (A) 5 (B) 25 

  (C) 20 (D) 4 

 26. You take 2 hours 40 minutes to complete your homework. If you have started 

doing it at 4:20 pm, then at what time will you complete it? 

 

  (A) 6 pm (B) 6:20 pm 

  (C) 7 pm (D) 7:20 pm 

 27. Himani stitched 3 ladies suits per day. How many suits will she stitch in the 

month of April? 

  (A) 93 (B) 90 

  (C) 30 (D) 21 

 28. How many circles are there in the given figure? 



 

  (A) 5 (B) 7 

  (C) 9 (D) 11 

 29. How many legs would 8 cats have? 

 

  (A) 4 (B) 8 

  (C) 24 (D) 32 

The pictograph below shows the number of lunch boxes donated in 6 days. 

 

 30. How many fewer lunch boxes were donated on Tuesday than on Friday? 

  (A) 4 (B) 9 

  (C) 16 (D) 20 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


